
Rješenja zadataka (ponavljanje 2 ppz) 

 

1.a) anioni   Br, P, F                     b) kationi Li, Na          c)  Li+, Na+, Br-, P3-, F-   

 

2. a)  

     b)        Li  → Li+ +1e-∕ x6

                 N2  + 6 e- → 2N3-  

              _________________ 

 6Li  → 6Li+ +6e- 

                 N2  + 6 e- → 2N3-  

             _________________________ 

               6Li  + N2 → 6Li+  + 2N3- → 2Li3N 

 

 

3.a)  

 

  b)  4 jednostruke kovalentne veze 

 

4.  X →  N(p+) =  12 → Z=12  →Mg 

     Y →  N(p+) =  9 → Z=9  → F 

- Ionska veza 

- MgF2 

 

5. a) kovalentni     SO3, , CO2 , CO   b) ionski   CaO, , Al2O3, MgO 

 

 

 


